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Making Inferences OO D

PROCEDURE
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: Examine the pictures below, and read the statements concerning them. Determine whether the statement is an observation or an inference. 1

| Use the codes below to fill in the answer spot. I
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The man is in pain.

The man's tongue

is sticking out.

The man is holding a ball.

The man is wearing the number 1273.
The man is screaming

The man is carrying a giant fish.

The man just caught a giant fish.
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The man is wearing

The man just purchased a

giant fish.

The man is struggling to hold the giant fish.




